
A1.  
i. Σ 
ii. Σ 
iii. Λ  
iv. Σ  
v. Λ 
vi. Λ 

Α3.  

α) α) 0 

β) α) 1 2 3 4 

γ) γ) 5 2 -1 

δ) γ) 5 4 
 

Α4.  
1.Σ  
2.Λ  
3.Λ 

        

 

Α5. Χ>=10 ΚΑΙ Χ<=99 ΚΑΙ Χ MOD 2 = 1 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B2. i) θετικές       ii) μέσος όρος αποδεκτών τιμών    

     iii)     Α 0 
Κ 0 
i  1 
Οσο i<=4 επανάλαβε 
 Διάβασε Χ 
 Οσο Χ<=0 επανάλαβε 
  Διάβασε Χ 
 Τέλος_επανάληψης 
 Κ  Κ + Χ 
 i i + 1 
Τέλος_επανάληψης 
Λ  Κ / 4 
Γράψε Κ,Λ 

Β3. (1) 4, (2) 4, (3) mod 3, (4) 0                                         . 
ΠΡΟΓΡΑΜΜΑ ΘεμαΓ 
ΜΕΤΑΒΛΗΤΕΣ 
  ΑΚΕΡΑΙΕΣ: κ, ηλ, πλΑ, πλΚ, αθρ, πλ1618 
  ΠΡΑΓΜΑΤΙΚΕΣ: ΜΟ, ποσΚ 
  ΧΑΡΑΚΤΗΡΕΣ: φ 
ΑΡΧΗ 
  πλΑ <- 0 
  πλΚ <- 0 
  Πλ1618 <- 0 
  αθρ <- 0 

  ΓΙΑ κ ΑΠΟ 1 ΜΕΧΡΙ 64 
    ΑΡΧΗ_ΕΠΑΝΑΛΗΨΗΣ 
      ΔΙΑΒΑΣΕ φ 
    ΜΕΧΡΙΣ_ΟΤΟΥ φ = 'Α' Η φ = 'Κ' 
    ΑΡΧΗ_ΕΠΑΝΑΛΗΨΗΣ 
      ΔΙΑΒΑΣΕ ηλ 
    ΜΕΧΡΙΣ_ΟΤΟΥ ηλ >= 12 ΚΑΙ ηλ <= 18 
    ΑΝ φ = 'Α' ΤΟΤΕ 
      πλΑ <- πλΑ + 1 
      αθρ <- αθρ + ηλ 
    ΑΛΛΙΩΣ 
      πλΚ <- πλΚ + 1 
      ΑΝ ηλ >= 16 ΚΑΙ ηλ <= 18 ΤΟΤΕ 
        πλ1618 <- πλ1618 + 1 
      ΤΕΛΟΣ_ΑΝ 
    ΤΕΛΟΣ_ΑΝ 
  ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 
  ΑΝ πλΑ > πλΚ ΤΟΤΕ 
    ΓΡΑΨΕ 'περισσότερα αγόρια' 
  ΑΛΛΙΩΣ_ΑΝ πλΑ < πλΚ ΤΟΤΕ 
    ΓΡΑΨΕ 'περισσότερα κοριτσια' 
  ΑΛΛΙΩΣ 
    ΓΡΑΨΕ 'ίσο πλήθος αγόρια/κορίτσια' 
  ΤΕΛΟΣ_ΑΝ 
  ΑΝ πλΑ <> 0 ΤΟΤΕ 
    ΜΟ <- αθρ/πλΑ 
    ΓΡΑΨΕ ΜΟ 
  ΤΕΛΟΣ_ΑΝ 
  ΑΝ πλΚ <> 0 ΤΟΤΕ 
    ποσΚ <- πλ1618/πλΚ*100 
    ΓΡΑΨΕ ποσΚ 
  ΤΕΛΟΣ_ΑΝ 
ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ                      .  

ΠΡΟΓΡΑΜΜΑ ΘεμαΔ 
ΜΕΤΑΒΛΗΤΕΣ 
  ΑΚΕΡΑΙΕΣ: λ, πλ, μαξ, μην 
  ΠΡΑΓΜΑΤΙΚΕΣ: χρ 
  ΧΑΡΑΚΤΗΡΕΣ: ον, ονμαξ 
ΑΡΧΗ 
  πλ <- 0 
  μαξ <- 0 
  ΔΙΑΒΑΣΕ ον 
  ΟΣΟ ον <> '###' ΕΠΑΝΑΛΑΒΕ 
    ΔΙΑΒΑΣΕ λ, μην 
    ΑΝ λ <= 40 ΤΟΤΕ 
      χρ <- 0 
    ΑΛΛΙΩΣ_ΑΝ λ <= 90 ΤΟΤΕ 
      χρ <- (λ - 40)*0.23 
    ΑΛΛΙΩΣ 
      χρ <- 50*0.23 + (λ - 90)*0.18 
    ΤΕΛΟΣ_ΑΝ 
    χρ <- χρ + 5 + μην*0.05 
    ΓΡΑΨΕ χρ 
    ΑΝ λ > 10*60 ΤΟΤΕ 
      ΓΡΑΨΕ ον 
      πλ <- πλ + 1 
    ΤΕΛΟΣ_ΑΝ 
    ΑΝ λ > μαξ ΤΟΤΕ 
      μαξ <- λ 
      ονμαξ <- ον 
    ΤΕΛΟΣ_ΑΝ 
    ΔΙΑΒΑΣΕ ον 
  ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 
  ΑΝ πλ = 0 ΚΑΙ μαξ <> 0 ΤΟΤΕ 
    ΓΡΑΨΕ ονμαξ 
  ΤΕΛΟΣ_ΑΝ 
ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ 

B1.Αρ x y s Y<>0 Έξοδ 
1 45 19    

2   0   

3    Α  

4   45   

5 90     

6  9    

3    Α  

4   135   

5 180     

6  4    

3    Α  

4   135   

5 360     

6  2    

3    Α  

4   135   

5 720     

6  1    

3    Α  

4   855   

5 1440     

6  0    

3    Ψ  

8     855 

A2. 

εντολές 


